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1H NMR (500 MHz)
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1H NMR (500 MHz)
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NOESY (500 MHz, 400 ms)

-
- @
%
:

~0.4

\ 4

~0.6

0.8
~3.6

3.8

-5.8
-6.0
6.2
6.4
-6.6
6.9
7.0

7.2
~8.2

-8.4

— T T T T 1 T L L B I e e L A B B
85 84 83 8.2 71 70 69 68 6.7 66 65 64 63 6.2 6.1 6.0 59
Chemicky posun [ppm]

e o A
58 57 39 38 37

)\ " N e

1H{15N} HMBC (500 MHz, 8 Hz)
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1H NMR (500 MHz)
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1H NMR (500 MHz, no spinning)

NS L

6.4

6.5
Chemicky posun [ppm]

6.6

5.7

5.8

5.9

6.0

6.1

6.2

6.3

6.7

6.8

6.9

7.0

7.1

7.2

7.3

1H NMR (500 MHz)
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W1 = 0,63 Hz

W1p = 0,48 Hz
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